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- #1. Find the genefal solﬁtion of the system: _ #2. Find ;‘the general solution of the system:
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#3. Find the general solution of the system: #4. Find the general solution of the system:
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#5. Find the general solution of the systein
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#7 Fmd the general solution of the system
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#8 Find the general solution of the system:
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#9. Solve the initial-value problem:
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#10. Solve both ways (method of undermined
coefficients and variation of parameters):
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#11. Solve both ways (method of undermined
coefficients and variation of parameters):
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#12. Rewrlte the following 3" d_order differential
equation as a system of 3 1*-order differential
equations (and also write the initial conditions in
matrix form):
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(do not solve the system)
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